# Rate of convergence for rational and conjugate rational Fourier series of functions of generalized bounded variation 

Hardeepbhai J. Khachar and Rajendra G. Vyas


#### Abstract

In this article, extending the results of Fourier and conjugate Fourier series, the rates of convergence for rational and conjugate rational Fourier series for functions of generalized bounded variation are estimated.


## 1. Introduction

Bojanić [1] gave a quantitative version of the Dirichlet-Jordan test on the convergence of Fourier series. Later on, this result was further generalized for functions of generalized bounded variations [3, 11]. The work of Bojanić led the groundwork for estimations related to the rate of convergence for Fourier series and conjugate Fourier series for different orthogonal systems $[2,8,9]$. Recently, some properties of Fourier series are extended for rational Fourier series, introduced by Džrbašyan [5].

The rational orthogonal system is defined as

$$
\begin{equation*}
\phi_{0}\left(e^{i x}\right)=1, \phi_{n}\left(e^{i x}\right)=\frac{\sqrt{1-\left|\alpha_{n}\right|^{2}} e^{i x}}{1-\overline{\alpha_{n}} e^{i x}} \prod_{k=1}^{n-1} \frac{e^{i x}-\alpha_{k}}{1-\overline{\alpha_{k}} e^{i x}} \tag{1}
\end{equation*}
$$

and $\phi_{-n}\left(e^{i x}\right)=\overline{\phi_{n}\left(e^{i x}\right)}, \forall n \in \mathbb{N}$. Here, $\left\{\alpha_{n}\right\}_{n \in \mathbb{N}}$ is a complex sequence such that $\alpha_{k}$ 's are in open unit disk $\mathbb{D}$. In the sequel, the following condition is assumed to be satisfied and with $r$ as mentioned below,

$$
\begin{equation*}
\sup \left|\alpha_{k}\right|=r<1, \forall k \in \mathbb{N} \tag{2}
\end{equation*}
$$

Received June 8, 2022.
2020 Mathematics Subject Classification. 41A30, 41A25, 42C10, 42B05.
Key words and phrases. Rational Fourier series, double rational Fourier series, rate of convergence, generalized bounded variation.
https://doi.org/10.12697/ACUTM.2022.26.16
Corresponding author: H. J. Khachar

Since $\sum_{n=1}^{\infty}\left(1-\left|\alpha_{k}\right|\right)=\infty$, the system in (1) is complete in $L^{2}[-\pi, \pi]$ [4].
For a $2 \pi$-periodic and integrable function $f$, the rational Fourier series of $f$ is defined as

$$
f(x) \sim \sum_{n=-\infty}^{\infty} \hat{f}(n) \phi_{n}\left(e^{i x}\right)
$$

where $\hat{f}(n)$ is the $n^{\text {th }}$ rational Fourier coefficient of $f$, given by

$$
\hat{f}(n)=\frac{1}{2 \pi} \int_{-\pi}^{\pi} f(x) \overline{\phi_{n}\left(e^{i x}\right)} d x
$$

and the conjugate rational Fourier series is given by

$$
\sum_{n=-\infty}^{\infty}(-i) \operatorname{sgn}(n) \hat{f}(n) \phi_{n}\left(e^{i x}\right)
$$

Note that, if $\alpha_{k}=0$, for all $k \in \mathbb{N}$ in (1) then $\left\{\phi_{n}\left(e^{i x}\right)\right\}$ reduces to $\left\{e^{i n x}\right\}$ and therefore the rational Fourier series (the conjugate rational Fourier series) reduces to the classical Fourier series (the conjugate Fourier series).

Some of the work related to theoretical aspects of rational Fourier series can be found in $[6,7,10]$.

## 2. Preliminaries and notations

Throughout this paper, the notations mentioned in this section will be used.

For $n \in \mathbb{N}$ and $x \in[-\pi, \pi]$, the partial sum of the Fourier series of $f$ is given by

$$
S_{n} f(x)=\sum_{k=-n}^{n} \hat{f}(k) \phi_{k}\left(e^{i x}\right)
$$

and the partial sum of the conjugate Fourier series of $f$ is given by

$$
\tilde{S}_{n} f(x)=\sum_{k=-n}^{n}(-i) \operatorname{sgn}(k) \hat{f}(k) \phi_{k}\left(e^{i x}\right)
$$

Waterman [12] defined the concept of $\Lambda$-bounded variation as follows. Let $\left\{\lambda_{n}\right\}_{n=0}^{\infty}$ be a non decreasing sequence of positive numbers such that $\sum \frac{1}{\lambda_{n}}$ diverges. Then a real valued function $f$ is said to be of $\Lambda$-bounded variation on $[a, b]$ (i.e., $f \in \Lambda B V[a, b]$ ) if

$$
\sum_{k=1}^{n} \frac{\left|f\left(b_{k}\right)-f\left(a_{k}\right)\right|}{\lambda_{k}}<\infty
$$

for every sequence of non-overlapping intervals $\left[a_{k}, b_{k}\right], k=1, \ldots, n$, which is contained in $[a, b]$, and the $\Lambda$-variation is defined by

$$
V_{\Lambda}(f,[a, b])=\sup \sum_{k=1}^{n}\left\{\frac{\left|f\left(b_{k}\right)-f\left(a_{k}\right)\right|}{\lambda_{k}}\right\} .
$$

Note that, if in the above definition $\lambda_{n}=n^{\beta} ; \beta \in(0,1)$, then $f$ is said to be of $n^{\beta}$-bounded variation (i.e. $f \in\{n\}^{\beta}-B V[a, b]$ ).

As mentioned in [11], we suppose that $\frac{\lambda_{|k|}}{|k|}$ is non increasing and for fixed $n, H(t)$ is a continuously non increasing function on $[-\pi, 0)$ and $(0, \pi]$ such that

$$
H(t)=\frac{\lambda_{|k|}}{t},
$$

where $t=\frac{k \pi}{n+1}$ and $k= \pm 1, \pm 2, \ldots, \pm(n+1)$.
The following notations will be used in the rest of the discussion:
i) $\psi_{x}(t)=f(x)-f(x-t), t \in \mathbb{R}$,
ii) $\tilde{f}(x)=\lim _{\epsilon \rightarrow 0^{+}} \tilde{f}(x ; \epsilon)=\frac{1}{\pi} \int_{\epsilon \leq \pi} \frac{f(x-t)}{2 \tan (t / 2)} d t$,
iii) $\operatorname{osc}\left(\psi_{x},[a, b]\right)=\sup _{t, y \in[a, b]}\left|\psi_{x}(t)-\psi_{x}(y)\right|$,
iv) $\eta_{k m}=\frac{k \pi}{m+1}, \forall k=0,1,2, \ldots, m ; m \in \mathbb{N} \cup\{0\}$,
v) $I_{k m}^{+}=\left[\eta_{k m}, \eta_{(k+1) m}\right]$,
vi) $I_{k m}^{-}=\left[-\eta_{(k+1) m},-\eta_{k m}\right]$.

## 3. Results

First, we state the results related to the rate of convergence of rational Fourier series.

Theorem 1. If $f$ is a bounded, measurable function in $[-\pi, \pi]$ and is regulated, i.e., $f(x)=1 / 2\{f(x+0)+f(x-0)\}$, then

$$
\left|S_{n} f(x)-f(x)\right| \leq \frac{2(1+r)}{1-r} \sum_{k=0}^{n} \frac{1}{k+1}\left\{\operatorname{osc}\left(\psi_{x}, I_{k n}^{+}\right)+\operatorname{osc}\left(\psi_{x}, I_{k n}^{-}\right)\right\} .
$$

Corollary 1. If $f \in \Lambda B V([-\pi, \pi]), \frac{\pi}{n+1}=a_{n}<a_{n-1}<\ldots<a_{0}=\pi$ and $-\pi=b_{0}<b_{1}, \ldots,<b_{n}=\frac{-\pi}{n+1}$, then

$$
\begin{aligned}
\left(\frac{1-r}{1+r}\right)\left|S_{n} f(x)-f(x)\right| \leq & \frac{2 \lambda_{n+1}}{n+1}\left(V_{\Lambda}(\psi,[0, \pi])+V_{\Lambda}(\psi,[-\pi, 0])\right) \\
& +\frac{2 \pi}{n+1} \sum_{i=0}^{n-1} V_{\Lambda}\left(\psi,\left[0, a_{i}\right]\right)\left(H\left(a_{i+1}\right)-H\left(a_{i}\right)\right)
\end{aligned}
$$

$$
+\frac{2 \pi}{n+1} \sum_{i=0}^{n-1} V_{\Lambda}\left(\psi,\left[b_{i}, 0\right]\right)\left(H\left(b_{i}\right)-H\left(b_{i+1}\right)\right) .
$$

Proof. The result can be easily obtained from Theorem 1 and then following the method used in [11].

Corollary 2. If $f \in\left\{n^{\beta}\right\}-B V([-\pi, \pi]), 0<\beta<1$, then

$$
\begin{aligned}
\left|S_{n} f(x)-f(x)\right| \leq & \frac{2(2-\beta)}{(n+1)^{1-\beta}} \cdot \frac{1+r}{1-r} \sum_{k=1}^{n} \frac{1}{k^{\beta}}\left\{V_{\left\{n^{\beta}\right\}}(\psi,[0, \pi / k])\right. \\
& \left.+V_{\left\{n^{\beta}\right\}}(\psi,[-\pi / k, 0])\right\} .
\end{aligned}
$$

Theorem 1, Corollary 1 and Corollary 2 are analogues results of $[11,3]$ for rational Fourier series as, for $r=0$, the estimations for classical Fourier series are obtained. These results generalize the estimation of rational Fourier series for functions of bounded variation given by Tan and Zhou [10, Lemma 2.4].

The similar results can be obtained for conjugate rational Fourier series. These are stated below.

Theorem 2. If $f$ is bounded, measurable and regulated function in $[-\pi, \pi]$ then

$$
\left|\tilde{S}_{n} f(x)-\tilde{f}\left(x, \frac{\pi}{n+1}\right)\right| \leq \frac{2(1+r)}{1-r} \sum_{k=0}^{n} \frac{1}{k+1}\left\{o s c\left(\psi_{x}, I_{k n}^{+}\right)+o s c\left(\psi_{x}, I_{k n}^{-}\right)\right\}
$$

Corollary 3. If $f \in \Lambda B V([-\pi, \pi]), \frac{\pi}{n+1}=a_{n}<a_{n-1}<\ldots<a_{0}=\pi$ and $-\pi=b_{0}<b_{1}, \ldots,<b_{n}=\frac{-\pi}{n+1}$, then

$$
\begin{aligned}
\left(\frac{1-r}{1+r}\right)\left|\tilde{S}_{n} f(x)-\tilde{f}\left(x, \frac{\pi}{n+1}\right)\right| & \leq \frac{2 \lambda_{n+1}}{n+1}\left(V_{\Lambda}(\psi,[0, \pi])+V_{\Lambda}(\psi,[-\pi, 0])\right) \\
& +\frac{2 \pi}{n+1} \sum_{i=0}^{n-1} V_{\Lambda}\left(\psi,\left[0, a_{i}\right]\right)\left(H\left(a_{i+1}\right)-H\left(a_{i}\right)\right) \\
& +\frac{2 \pi}{n+1} \sum_{i=0}^{n-1} V_{\Lambda}\left(\psi,\left[b_{i}, 0\right]\right)\left(H\left(b_{i}\right)-H\left(b_{i+1}\right)\right)
\end{aligned}
$$

Corollary 4. If $f \in\left\{n^{\beta}\right\}-B V([-\pi, \pi]), 0<\beta<1$, then

$$
\begin{gathered}
\left|\tilde{S}_{n} f(x)-\tilde{f}\left(x, \frac{\pi}{n+1}\right)\right| \leq \frac{2(2-\beta)}{(n+1)^{1-\beta}} \cdot \frac{1+r}{1-r} \sum_{k=1}^{n} \frac{1}{k^{\beta}}\left\{V_{\left\{n^{\beta}\right\}}(\psi,[0, \pi / k])\right. \\
\left.+V_{\left\{n^{\beta}\right\}}(\psi,[-\pi / k, 0])\right\}
\end{gathered}
$$

Corollary 4 generalizes the result in [10, Lemma 2.4]. If $r=0$, then Theorem 2 gives estimation for conjugate Fourier series.

## 4. Proofs

Proof of Theorem 1. In view of [10, Lemma 2.1], for $\alpha_{k}=\left|\alpha_{k}\right| e^{i a_{k}}, n \in \mathbb{N}$ and $x \in[-\pi, \pi]$, the partial sums of the rational Fourier series are given by

$$
S_{n} f(x)=\frac{1}{\pi} \int_{-\pi}^{\pi} f(x-t) D_{n}(x-t, x) d t
$$

where

$$
D_{n}(t, x)=\frac{1}{2} \sum_{k=-n}^{n} \overline{\phi_{k}\left(e^{i t}\right)} \phi_{k}\left(e^{i x}\right)=\frac{\sin \left[\frac{x-t}{2}+\theta_{n}(t, x)\right]}{2 \sin \left(\frac{x-t}{2}\right)}
$$

and

$$
\theta_{n}(t, x)=\int_{t}^{x} \sum_{k=1}^{n} \frac{1-\left|\alpha_{k}\right|^{2}}{1-2\left|\alpha_{k}\right| \cos \left(y-a_{k}\right)+\left|\alpha_{k}\right|^{2}} d y .
$$

Note that, for $n \in \mathbb{Z} \backslash\{0\}$ and by (2), we get

$$
\begin{equation*}
\left|\phi_{n}\left(e^{i x}\right)\right|=\sqrt{\frac{1-\left|\alpha_{|n|}\right|^{2}}{1-2\left|\alpha_{|n|}\right| \cos \left(x-a_{|n|}\right)+\left|\alpha_{|n|}\right|^{2}}} \leq \sqrt{\frac{1+r}{1-r}} . \tag{3}
\end{equation*}
$$

Therefore, for $n \in \mathbb{N}$,

$$
\begin{equation*}
\left|D_{n}(t, x)\right| \leq(n+1) \frac{1+r}{1-r} . \tag{4}
\end{equation*}
$$

Thus,

$$
\begin{aligned}
f(x)-S_{n} f(x) & =\frac{1}{\pi} \int_{0}^{\pi} \psi_{x}(t) D_{n}(x-t, x) d t+\frac{1}{\pi} \int_{-\pi}^{0} \psi_{x}(t) D_{n}(x-t, x) d t \\
& :=A+B .
\end{aligned}
$$

Therefore,

$$
\begin{aligned}
A= & \frac{1}{\pi} \int_{I_{0 n}^{+}} \psi_{x}(t) D_{n}(x-t, x) d t+\frac{1}{\pi} \sum_{k=1}^{n} \int_{I_{k n}^{+}}\left(\psi_{x}(t)-\psi\left(\eta_{k n}\right)\right) D_{n}(x-t, x) d t \\
& +\frac{1}{\pi} \sum_{k=1}^{n} \int_{I_{k n}^{+}} \psi_{x}\left(\eta_{k n}\right) D_{n}(x-t, x) d t \\
= & : A_{1}+A_{2}+A_{3} .
\end{aligned}
$$

Similarly,

$$
\begin{aligned}
B= & \frac{1}{\pi} \int_{I_{0 n}^{-}} \psi_{x}(t) D_{n}(x-t, x) d t+\frac{1}{\pi} \sum_{k=1}^{n} \int_{I_{k n}^{-}}\left(\psi_{x}(t)-\psi\left(-\eta_{k n}\right)\right) D_{n}(x-t, x) d t \\
& +\frac{1}{\pi} \sum_{k=1}^{n} \int_{I_{k n}^{-}} \psi_{x}\left(-\eta_{k n}\right) D_{n}(x-t, x) d t \\
= & : B_{1}+B_{2}+B_{3} .
\end{aligned}
$$

By (4), we have

$$
\begin{aligned}
\left|A_{1}\right| & \leq \frac{1}{\pi} \int_{I_{0 n}^{+}}\left|\psi_{x}(t)-\psi(0)\right|\left|D_{n}(x-t, x)\right| d t \\
& \leq \frac{\operatorname{osc}\left(\psi_{x}, I_{0 n}^{+}\right)}{\pi} \int_{I_{0 n}^{+}}(n+1) \frac{1+r}{1-r} d t \\
& \leq \frac{1+r}{1-r} \operatorname{osc}\left(\psi_{x}, I_{0 n}^{+}\right)
\end{aligned}
$$

and similarly

$$
\left|B_{1}\right| \leq \frac{1+r}{1-r} \operatorname{osc}\left(\psi_{x}, I_{0 n}^{-}\right)
$$

Since $\sin \left(\frac{t}{2}\right) \geq \frac{t}{\pi}$ for $0<t<\pi$, we get

$$
\left|A_{2}\right| \leq \frac{1}{\pi} \sum_{k=1}^{n} \int_{I_{k n}^{+}}\left|\psi_{x}(t)-\psi\left(\eta_{k n}\right)\right|\left|D_{n}(x-t, x)\right| d t \leq \sum_{k=1}^{n} \frac{1}{k+1} \operatorname{osc}\left(\psi_{x}, I_{k n}^{+}\right)
$$

and similarly

$$
\left|B_{2}\right| \leq \sum_{k=1}^{n} \frac{1}{k+1} \operatorname{osc}\left(\psi_{x}, I_{k n}^{-}\right)
$$

Let

$$
R_{k m}^{+}=\int_{\eta_{k n}}^{\pi} D_{n}(x-t, x) d t \text { and } R_{k m}^{-}=\int_{\eta_{k n}}^{\pi} D_{n}(x+t, x) d t
$$

In view of [10, Lemma 2.3], we have for $0<u<\pi$,

$$
\left|\int_{u}^{\pi} D_{n}(x-t, x) d t\right| \leq \frac{\pi^{2}(1+r)}{2 n(1-r) u} \text { and }\left|\int_{u}^{\pi} D_{n}(x+t, x) d t\right| \leq \frac{\pi^{2}(1+r)}{2 n(1-r) u} .
$$

Thus, we get

$$
\begin{equation*}
\left|R_{k n}^{+}\right| \leq \frac{\pi(1+r)}{k(1-r)} \text { and }\left|R_{k n}^{-}\right| \leq \frac{\pi(1+r)}{k(1-r)} \tag{5}
\end{equation*}
$$

We have

$$
A_{3}=\frac{1}{\pi} \sum_{k=1}^{n}\left\{\psi_{x}\left(\eta_{k n}\right)-\psi_{x}\left(\eta_{(k-1) n}\right)\right\}\left(R_{k n}^{+}\right)
$$

and

$$
B_{3}=\frac{1}{\pi} \sum_{k=1}^{n}\left\{\psi_{x}\left(-\eta_{k n}\right)-\psi_{x}\left(-\eta_{(k-1) n}\right)\right\}\left(R_{k n}^{-}\right)
$$

Therefore, by using (5), we get

$$
\left|A_{3}\right| \leq \frac{1+r}{1-r} \sum_{k=1}^{n} \frac{1}{k} \operatorname{osc}\left(\psi_{x}, I_{(k-1) n}^{+}\right) \text {and }\left|B_{3}\right| \leq \frac{1+r}{1-r} \sum_{k=1}^{n} \frac{1}{k} \operatorname{osc}\left(\psi_{x}, I_{(k-1) n}^{-}\right)
$$

Thus, we have

$$
|A| \leq \frac{2(1+r)}{1-r} \sum_{k=0}^{n} \frac{1}{k+1} \operatorname{osc}\left(\psi_{x}, I_{k n}^{+}\right),|B| \leq \frac{2(1+r)}{1-r} \sum_{k=0}^{n} \frac{1}{k+1} \operatorname{osc}\left(\psi_{x}, I_{k n}^{-}\right)
$$

Hence, the result is proved.

Proof of Theorem 2. In view of [10, Lemma 2.1], for $\alpha_{k}=\left|\alpha_{k}\right| e^{i a_{k}}, n \in \mathbb{N}$ and $x \in[-\pi, \pi]$, the partial sums of the conjugate rational Fourier series are given by

$$
\tilde{S}_{n} f(x)=\frac{1}{\pi} \int_{-\pi}^{\pi} f(x-t) \tilde{D}_{n}(x-t, x) d t
$$

where
$\tilde{D}_{n}(t, x)=\frac{1}{2} \sum_{k=-n}^{n}(-i) \operatorname{sgn}(k) \overline{\phi_{k}\left(e^{i t}\right)} \phi_{k}\left(e^{i x}\right)=\frac{\cos \left(\frac{x-t}{2}\right)-\cos \left[\frac{x-t}{2}+\theta_{n}(t, x)\right]}{2 \sin \left(\frac{x-t}{2}\right)}$
and

$$
\theta_{n}(t, x)=\int_{t}^{x} \sum_{k=1}^{n} \frac{1-\left|\alpha_{k}\right|^{2}}{1-2\left|\alpha_{k}\right| \cos \left(y-a_{k}\right)+\left|\alpha_{k}\right|^{2}} d y
$$

Therefore by using (3) and the simple fact that $\operatorname{sgn}(0)=0$, for $n \in \mathbb{N}$,

$$
\begin{equation*}
\left|\tilde{D}_{n}(t, x)\right| \leq n \frac{1+r}{1-r} \tag{6}
\end{equation*}
$$

Using the fact that

$$
\int_{-\pi}^{\pi} \tilde{D}_{n}(x-t, x) d t=0 \text { and } \int_{\frac{\pi}{n+1} \leq|t| \leq \pi} \frac{1}{2 \tan (t / 2)} d t=0
$$

we get

$$
\begin{aligned}
\tilde{S}_{n} f(x)- & \tilde{f}\left(x, \frac{\pi}{n+1}\right)=\frac{1}{\pi}\left\{-\int_{0}^{\pi} \psi_{x}(t) \tilde{D}_{n}(x-t, x) d t+\int_{\frac{\pi}{n+1}}^{\pi} \frac{\psi_{x}(t)}{2 \tan (t / 2)} d t\right\} \\
& +\frac{1}{\pi}\left\{-\int_{-\pi}^{0} \psi_{x}(t) \tilde{D}_{n}(x-t, x) d t+\int_{-\pi}^{\frac{-\pi}{n+1}} \frac{\psi_{x}(t)}{2 \tan (t / 2)} d t\right\} \\
= & \tilde{A}+\tilde{B}
\end{aligned}
$$

Therefore,

$$
\begin{aligned}
\tilde{A}= & -\frac{1}{\pi} \int_{I_{0 n}^{+}} \psi_{x}(t) \tilde{D}_{n}(x-t, x) d t \\
& +\frac{1}{\pi} \sum_{k=1}^{n} \int_{I_{k n}^{+}}\left(\psi_{x}(t)-\psi\left(\eta_{k n}\right)\right) \frac{\cos \left[\frac{t}{2}+\theta_{n}(x-t, x)\right]}{2 \sin \left(\frac{t}{2}\right)} d t
\end{aligned}
$$

$$
\begin{aligned}
& +\frac{1}{\pi} \sum_{k=1}^{n} \int_{I_{k n}^{+}} \psi_{x}\left(\eta_{k n}\right) \frac{\cos \left[\frac{t}{2}+\theta_{n}(x-t, x)\right]}{2 \sin \left(\frac{t}{2}\right)} d t \\
& =: \tilde{A}_{1}+\tilde{A}_{2}+\tilde{A}_{3} .
\end{aligned}
$$

By (6), we have

$$
\left|\tilde{A}_{1}\right| \leq \frac{1}{\pi} \int_{I_{0 n}^{+}}\left|\psi_{x}(t)-\psi(0) \| \tilde{D}_{n}(x-t, x)\right| d t \leq \frac{1+r}{1-r} \operatorname{osc}\left(\psi_{x}, I_{0 n}^{+}\right) .
$$

Let $D_{n}^{*}(x-t, x)=\frac{\cos \left[\frac{t}{2}+\theta_{n}(x-t, x)\right]}{2 \sin \left(\frac{t}{2}\right)}$. Since $\sin \left(\frac{t}{2}\right) \geq \frac{t}{\pi}$, for $0<t<\pi$, we get

$$
\left|\tilde{A}_{2}\right| \leq \frac{1}{\pi} \sum_{k=1}^{n} \int_{I_{k n}^{+}}\left|\psi_{x}(t)-\psi\left(\eta_{k n}\right)\right|\left|D_{n}^{*}(x-t, x)\right| d t \leq \sum_{k=1}^{n} \frac{1}{k+1} \operatorname{osc}\left(\psi_{x}, I_{k n}^{+}\right) .
$$

Let $T_{k m}^{+}=\int_{\eta_{k n}}^{\pi} D_{n}^{*}(x-t, x) d t$. In view of [10, Lemma 2.3], we have, for $0<u<\pi$,

$$
\left|\int_{u}^{\pi} D_{n}^{*}(x-t, x) d t\right| \leq \frac{\pi^{2}(1+r)}{2 n(1-r) u} .
$$

Thus, we obtain

$$
\begin{equation*}
\left|T_{k n}^{+}\right| \leq \frac{\pi(1+r)}{k(1-r)} \tag{7}
\end{equation*}
$$

Hence, we have

$$
\tilde{A}_{3}=\frac{1}{\pi} \sum_{k=1}^{n}\left\{\psi_{x}\left(\eta_{k n}\right)-\psi_{x}\left(\eta_{(k-1) n}\right)\right\}\left(T_{k n}^{+}\right) .
$$

Therefore, by using (7), we get

$$
\left|\tilde{A}_{3}\right| \leq \frac{1+r}{1-r} \sum_{k=1}^{n} \frac{1}{k} o s c\left(\psi_{x}, I_{(k-1) n}^{+}\right)
$$

Thus, we have

$$
|\tilde{A}| \leq \frac{2(1+r)}{1-r} \sum_{k=0}^{n} \frac{1}{k+1} \operatorname{osc}\left(\psi_{x}, I_{k n}^{+}\right)
$$

and similarly

$$
|\tilde{B}| \leq \frac{2(1+r)}{1-r} \sum_{k=0}^{n} \frac{1}{k+1} \operatorname{osc}\left(\psi_{x}, I_{k n}^{-}\right) .
$$

Hence, we get the result.

## Acknowledgements

The authors are thankful to the reviewer for suggesting improvements of the article. The first author is thankful to CSIR, India for providing financial support through JRF (File no.: 09/0114(11228)/2021-EMR-I).

## References

[1] R. Bojanić, An estimate of the rate of convergence for Fourier series of functions of bounded variation, Publ. Inst. Math. (Beograd) (N.S.) 26 (1979), 57-60.
[2] R. Bojanić and M. Vuilleumier, On the rate of convergence of Fourier-Legendre series of functions of bounded variation, J. Approx. Theory 31 (1981), 67-79.
[3] R. Bojanć and D. Waterman, On the rate of convergence of Fourier series of functions of generalized bounded variation, Akad. Nauka Umjet. Bosne Hercegov. Rad. Odjelj. Prirod. Mat. Nauka 22 (1983), 5-11.
[4] A. Bultheel, P. González-Vera, E. Hendriksen, and O. Njastad, Orthogonal Rational Functions, Cambridge Monographs on Applied and Computational Mathematics 5, Cambridge University Press, Cambridge, 1999.
[5] M. M. Džrbašyan, On the theory of series of Fourier in terms of rational functions, Akad. Nauk Armyan. SSR. Izv. Fiz.-Mat. Estest. Tehn. Nauki 9 (1956), 3-28.
[6] M. M. Djrbashian, A Survey on the theory of orthogonal system and some open problems, in: P. Nevai (eds) Orthogonal Polynomials, (NATO Adv. Sci. Inst. Ser. C: Math. Phys. Sci. 294), Kluwer Acad. Publ., Dordrecht, 1990, pp. 135-146.
[7] H. J. Khachar and R. G. Vyas, A note on multiple rational Fourier series, Period. Math. Hungar., https://doi.org/10.1007/s10998-021-00433-7.
[8] S. M. Mazhar and A. Al-Budaiwi, An estimate of the rate of convergence of the conjugate Fourier series of functions of bounded variation, Acta Math. Hungar. 49 (1987), 377-380.
[9] F. Móricz, A quantitative Dirichlet-Jordan test for Walsh-Fourier series, Proc. Amer. Math. Soc. 118 (1993), 143-149.
[10] L. Tan and T. Qian, On convergence of rational Fourier series of functions of bounded variations (in Chinese), Sci. Sinica Math. 43 (2013) 541-550, https://doi.org/10.1360/012013-127.
[11] D. Waterman, Estimating functions by partial sums of their Fourier series, J. Math. Anal. Appl. 87 (1982), 51-57.
[12] D. Waterman, On L-bounded variation, Studia Math. 57 (1976), 33-45.
Department of Mathematics, Faculty of Science, The Maharaja Sayajirao
University of Baroda, Vadodara - 390002, Gujarat, India
E-mail address: hardeep1996k@gmail.com
E-mail address: drrgvyas@yahoo.com

